m  Ortogonaalteisendus, omavaartused omavektorid

0 1 -3 0
1 0 0 -3
A= 30 o0 11’ X = {x1, x2, x3, x4}; Y= {yl, y2, y3, y4};
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L=A-2XxldentityMatrix[4];

| =Solve[Det [L] == 0, A]

Table[L /. | [[k1], {k, 1, 4}1.X%
Table[%[[i, k]]1 =0, {i, 1, 4}, {k, 1, 4}71;
Tabl e[Sol ve[%[[k]1], X1[[11], {k, 1, 4}71;
On=(X /. %) /. X4->u

% // MatrixForm

1
T=Sinplify [Tr anspose[TabI e[

om[ k11, {k, 1, 4}”, u>0]
vaom[[k11. Om[ [k]1]
T.Y,;

Tabl e [X[[K]] » %[[k]1, {k, 1, 4}]

Expand [Si nplify[X A X]]

Sinmplify[% /. %%, u> 0]

Transpose[T]. A T // Matri xForm

{({x--4}, {(A->-2}, {(A-2}, {24}
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yl y2 y3 y4 yl y2 y3 vy4
{Xl%——+—+———, X2 5 —+ — - — - — ,
2 2 2 2 2 2 2 2
yl y2 y3 y4 yl y2 y3 y4
X35 - —+ — - — + —, X4e—+—+—+—}
2 2 2 2 2 2 2 2

2X1X2-6X%X1x3-6x2x4+2x3x4

~4y1? - 2y2% ,2y3% ;1 4y4?

-4 0 00
0 -200
0 0 20
0O 0 0 4



